
EXO0748-678_OP01872_W2_N01_200s.txt  /  MJD 50550.322226 / burstid=1814
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Exponential fit
Expon. time:   13.72+/-   2.32 s (chi2-red=  0.83)

Peak flux:   1.091+/- 0.271 c/s/cm2

Fluence  :   15.28+/-   2.98 c/cm2

Duration :    41.97+/-   7.93 s
Best fit model: 1.
Best fluence model: 1.
Best duration model: 1.

Grey line: exponential fit
Black line: power law + gauss fit
Dashed line: power law
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Power law fit 
Power law index:  -0.981+/-  0.150 (chi2-red=  0.83)
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Power law fit  plus Gaussian (st.dev.= 11.14+/- 2.29 s, fracgs=   0.26+/-  0.17)
Power law index:  -0.688+/-  0.409 (chi2-red=  0.82)


